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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

76- 1don't know --------- they come from, and I think it is not important.
1) which 2) how 3) what 4) where
77- I'm not working tomorrow, so I ---------- early.
1) don't have to get up 2) am not getting up
3) must to not get up 4) can not get up
78- I've invited --------- friends to coffee so I'll need --------- milk.
1) a little/some 2) a few/some 3) some/a few 4) a little/a few
79- A: - you and Mary go to the cinema?
B: None of us had any money.
1) Why didn't 2) How don't 3) Why don't 4) How didn't
80- On seeing the soliders he was about to --------- at them, but suddenly stopped and burst
into tears.
1) catch 2) regard 3) shout 4) hug
81- Generally speaking, teenagers of today have less ----------- for their elders, than was the
case fifty years ago.
1) excuse 2) respect 3) attention 4) mission
82- Could you speak up a bit? My mother's rather ---------- of hearing.
1) heavy 2) pain 3) point 4) hard
83- If we don't -----———-- his reply within the next three days, I think we should write him
again.
1) dedicate 2) guess 3) finish 4) receive
84- She answered without ---------- and then spent a long time looking down at her coffee, as

if searching for words to clear her statements.

1) danger 2) range 3) pause 4) cause
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85- The test didn't produce any --------- results and we had to take another one.
1) repeated 2) meaningful 3) generous 4) probable

86- I---—-—-—-—--- remembered that I hadn't locked the door. I had to come back and lock it.
1) hardly 2) carefully 3) suddenly 4) actually

87- It was once believed that the earth was the ---------- of the universe.
1) center 2) region 3) effect 4) matter

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

When you finish high school or university, is learning done? The answer is "no." In

many countries, people (88)----------- learning all their lives. Why is lifelong learning
(89)----------- ? How can it help you? Let's look at one example of lifelong learning in
Japan.

You go to school and learn. You study. You take tests. But learning doesn't only
happen in school. And learning doesn't stop when you graduate from high school or
college. You (90)----------- all the time. For example, learning can happen when you
go to a museum. It can also happen when you get a job. You learn when you play a
spout or when you take a trip. Learning is life! (91)----------- . Every day, you can
improve yourself by learning something (92)----------- .

88- 1) vary 2) continue 3) lose 4) visit
89- 1) important 2) fluent 3) interesting 4) surprising
90- 1) learning 2) have learned 3) learns 4) are learning
91- 1) We stop learning never 2) We stop never learning

3) We never stop learning 4) Never we stop learning
92- 1)calm 2) hard 3) new 4) rare

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

A newborn baby can see, hear and feel. By the age of five; a child can talk and ride a
bike. How does this development happen? We don't really understand the way
language and thinking develop in the brain. Now scientists are using new technology
to help them in their studies. They are discovering new information about the way a
baby's brain develops.

A study in 2010 showed that the experiences a child has in their first few years are
important. These experiences affect the development of the brain. The study showed
when children receive more attention, they often have higher 1Qs. Babies receive




S5

YY axin

information when they see, hear and feel things. This information makes connections
between different parts of the brain. There are a hundred trillion connections in the
brain of a three-year-old child.

One experiment studied how newborn babies' brains react to different sounds. The
sounds were in different patterns. For example, the sounds mu-ba-ba make the pattern
'A-B-B'. And the sounds mu-ba-ge make the pattern 'A-B-C'. The results of the study
showed that babies know the two patterns are different. Patterns are important in
language. The order of words is important to grammar and meaning.

For example, 'John killed the bear' doesn't mean the same as '"The bear killed John.'
Both sentences have the same words, but they are in a different order. The experiment
shows that babies start to learn grammar rules from the beginning of their life.

93- According to the first paragraph ---------
1) scientists have little information about a baby's brain
2) technology is useful in child development studies
3) scientists understand child development very well
4) most five-year-olds ride bikes
94- Early experiences are important because they affect ---------- .
1) a baby's relationship 2) people's life styles
3) how babies feel 4) brain development

95- It's referred in the passage that ----------- .
1) attention and IQ are connected
2) all children have similar IQs
3) it's difficult to change a baby's IQ
4) some there-year-old children have a high IQ
96- The order of words help people ------------ .
1) make the best pattern for sounds 2) understand different sounds
3) understand the meaning of sentences ~ 4) make different rules in their languages

PASSAGE 2:

Experts say that people (adults) need at least 6 hours of sleep every night. If they do not get
enough sleep they will feel sleepy the whole day. Younger kids need at least 9 hours of sleep
every night. After school-activities can take away from sleep time for kids. Also parents with
busy life styles stay up late and their kids do the same.

Kids with little sleep have hard time sleeping at night and this will affect their daily routine
and make them less active and productive trough the day in school.

Most parents are not aware of what goes on when their kids go to sleep and how the brain
works when we are asleep.

Many people think that the brain shuts down when we go to sleep but it is the opposite.
Experts say that the brain is very active when we are asleep and could be even more active
than when we are awake.

Experts recommended at least 6 hours of sleep for adults and 9 hours of sleep for young
children. They say that sleep is an essential not a comfort and it can increase your life
expectancy.



PEwNLY

Yf axio

97- This passage is about ---------- .

1) the best quality of sleep 2) the best time to go to bed

3) the brain's activities during sleep 4) enough sleep for kids and adults
98- If people don't have good sleep at night, they ------------

1) can't do their activities well 2) can't have an active brain

3) will sleep during the day 4) will have a busy life style
99- Sleep, as it's stated in the passage, is a/an ---------- .

1) activity 2) essential 3) product 4) comport

100- According to the passage, ---------
1) younger kids don't sleep late at night
2) all people sleep at least 6 hours every night
3) our brains relax during our sleep
4) our sleep patterns affect our life directly
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